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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese
1. Answer any four of the following questions :

1x4=4
wod & e wifor e Te fumn

(a) Define rank correlation.

T ADTFES R o

(b) Find geometric mean of 8 and 2.
8 [ 27 BTIeF W4 Sfered] |

(¢) Define median.
NI e Tl |
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(2)

(d) Find range from the following :
o7 ] B #[1 A e
150, 100, 200, 400,
() What is skewness?

SR {9
(/) Mention one merit of scatter diagram
49 oay b1 @9 Sems 1 |
(g9 Can correlati
5 ;
e n coefficient be greater
TTRATA BIRF GFOLF BT '] A0 2
(h) Wha is parameter?
aTee 5 2
2. An
Swer any three of the following questions :
O R I it 2rs Tag foa - e
(a) Write two uses of MS-Excel
MS-Exceld %51 30217 s |
(b) Find mode from the following data :
O] OF 7R I Tfere - 5
X
1 (frequency)
- (IRII™T)
10 2
15 :
. ;
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(3)

(c) Mention two disadvantages of
arithmetic mean.
AR T o SR STy |

(d) Mention two measures of dispersion.
e o1 et Tead |

(e) What do r=0 and r =1 mean?

r =09 r = 1c8 % 3@ ?

) Distinguish

estimator.

WWWWWW%@W[

3. Answer any two of the following questions

o R Al Bt 2P T i

(@) Find medi

©od BN~/ J4I S ¢
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Marks
(75)
10
20
30
40
50
60

between an estimate and an

5x2=10

an from the following data :

No. of Students

(R~ 77$3T)
8

15
22
20
10
5
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(fea %) (S)

(p) Explain the merits of mode as a : (b) Find arithmetic mean :
measure of central tendency. R W SRed
T 2RTOR WA fRpiee) 92T BPTR W
3401 X i
. 0-10 S
{c) Find harmonic mean from the 10-20 10
following : 20 -30 23
S 30-40 30
Tore TR Zaee 14 Tfered : 40 - 50 20
SETHRIOISINIS S20,025, 28 50 - 60 10
(d) ExplaJn the difference between mean [C) Find mode from the fOl].OWil’lg data :
deviation and standard deviation. T S 7 T Ofered
oM e o e {5 T A1ef R Size of Garment No. of Persons Wearing
41| (CoI=rF3 (1Y) (FPracenees 1330)
; 28 10
(e) Explain the main features of 29 20
Spearman’s rank correlation coefficient. 30 40
PRI @ T e g1 CARErTIR 31 o=
IR =P | ‘ 32 50
33 15
0 \é/he;t. s an unbiased estimator? (d) Calculate standard deviation from the
xplain.

following data :

AN SIS 2 040 41 | wEq ©YF 741 TS 5o Sfere

4. Answer any three of the following questions : Profits (¥ Lakh) No. of Companies
10x3=30 TS (714 53T (=217 3337)
wod R i foffivt 2rgs S fian 0-10 12
(a) What are the qualities of a good ;g = gg ;g
average? Discuss. i 48 30 : 40 39
BT ST TS BFTR 6 15 9 stcemsan 4 | 40 - 50 16
50-60 . 03
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(6) (7))
i tain the two
(e) Calculate Karl Pearson’s coefficient of (h) From t}}e followmg data, obtain the
skewness : regression coefficients :
I PRReR SfTer 2ars Sie O] SR A1 T BT Ko7 Sferea
N\ §
X i X Y
9
12:5 28 g =
17-5 42 = 2
22-5 54 4 3
27-5 108 : .
32:5 129
37-5 61
42-5 45 s
47-5 33

() Discuss how scatter diagram method is
used for studying correlation.
TR AT AR 49 o7 el R
IRTR TN W, SO 347 |

(9) Find Pearson’s correlation coefficient
from the following data and interpret

the result :

O] O [l PRIpe Sem e Siyea
S FAFECH! AT FT -

Marks in Economics Marks in Statistics
(F3ST 75) (1RR30T Reirq 759

48 45
35 20
17 40
23 25
47 45
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